Exercise 1

Solve the linear inequalities

1
2
3.
4

5.

10.

-3X-22-14
4 4+x21-3x

X X
-5 t4< g -1

T-x22+ %
3x+1 _ 2x~-1
5 3

X=8 _4+X ca.(1.x)+
3 4 12

4(x-2) +3.X-1 5 .. 35
4 4
2X+5 _ X+3 . X
10 6 30

37x-48

X

7 21
’

e



10.

A 221423214+ 2 - 3Mz-12 2= 4

5= |- 4]

dexzl-Bne i+l -4dade3axz-2

E'=['%;+=='If

frdcfled-feddeaf {1443 4 255
=X+ 2 >W = K>3 = x=6

S=]6; 4
1-x22+fe-x-422- 1o Bl B850y
s s - S =]e=;-]

x4t 250 L 38047 L B 02% -0 o qmk o 1) < Bo(2x- 1)
5 3 15 15
e OK+ 3 10K-5 0K- 10K < -5-Fes-X<-Bes x> 8
S=108; 4]
X3 AN gLy BTX-48
3
e HeAx-3)  3-(4+x) . 36-(1-x) , 37x-48
12 12 12 12
e Aufx - 8) - 3(d + %) < 361 - x) + 37x - 48
4% - 12 - 12 - 3% < 36 - 36X + A7x - 48

SON-24Sx- 122 x-x2-12+2d = 0x =12 (indguation indéfermings)

S=IR
4-{3-2}+:3-“'1 > 98 o 16 (x-2)  F(x-0)  dx 35

4 4 4 4 4 o

16 M -2)+ 3 (X -1)>-dx -85 = 16X - 32 + I -3 > 4% - 35
=10 -36> - dX-35 = 10+ x> -35 4 36 &2 280 > 02 x=0
S]]

2x+#5  x+3 . x _, 6-(2x+5) 10 (x+3) . 2x

10 5] 30 60 60 60
e BlEN 4 B) - 10X 4+ 3) = 2% = 13 4+ 30 - 10w - 30 = 2x
SIS -0 =0 (indquation indéterminge)
5=IR
x _2:(x+3) Sx-1e 3x E_-_i;:4-3] < 21-(x-1)

7 21 21 21 21
S A-2+ =2 (n-1) 23 -20-6= 210 - 21
S W-2-21NS21 468 215 ue B sxed

S=[3 ;4=

.[gx 1'_”]-1 i 2ex) o x4, 3x
5 2 G ]

2y T4x 1 24k o x4 WX
3 15 2 g 5] b
e 200 -2 1 + %) - 15 + 52 + ) =5 (x-4) + 18x
e 20 -2-2%- 1584 104 5k < by - 20 4+ 18x
s By - T 2 23k - 20

e 2dK -2 220+ 7T =M= -13  (indquation impossibis)
5= (A

ﬂ L
i



Exercise 2

1. 30x - (15x + 95) = 38 - 7x
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